MATH2550

Course Work 2
a b c
Compute the following determinant [d e f|.
g h i
a d g
Compute the following determinant |b e h|. What do you notice when you
c f i
compare the result of Q1 and Q27?
a+b b ¢
Compute the following determinant [d+e e f
g+h h i
Repeat Q3 by replacing + witha —.
b a c
Compute the following determinant |e d f|. What do you notice?
h g i

- Does the same conclusion follow when we intérchange any two columns in a
determinant?
In Q5, what happens if we interchange two rows of a determinant?

Aa b ¢
Compute the following determinant (Ad e f].
Ag h 1

What happens in Q7, if we multiply each entry in column 2 by the same number

A (pronounced as “lambda”).
Show using School Geometry, that I? Zl . isthe area of the parallelogram

made out of the two vector ai+bj and ci+d].
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